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MAT 161, Practice Final|[Exam, Fall 2018 Name KEY

Instructions: Show all work. Give exact answers unless specifically asked to round. Complete all parts of
each question. Questions that provide only answers and no work will not receive full credit. If you use
your calculator (only when problems don’t instruct you to do the prablem by hand), showing calculator

steps will count as “work”.
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2. Sketch the graph of the curve f(x) = —3*~1 — 5. State the domain and range. (10 points)
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3. Find the inverse function of f(x) = 10e* + 7. State the do
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4. Solve the follow ng equations without using a calculator. (8 points each)
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9. Sketch the graph of the function flx) = i—g;—c, but finding i)
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10. Solve the rational and polynomial inequalities and write the solution in inté;notation._(
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11. Find the domair
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14. Solve the following equations without using a calculator. (5 points each)
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15. Solve the following equations. You may use a calculator (stw any graphs used). Round
answers to 4 decimal p'zces. (5 points)
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